Exam 27

1. Determine if the given series converge or diverge. Fully justify your answer by providing (a)
coverges/diverges, (b) the name of the test you used, and (c) supporting work for the answer
based on the test you have chosen. (15pts. each)
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2. Find the value of the geometric series, or show that the series diverges. (15 pts.)

s
0
2 SESRE ROy
9 Wt o 4 C (q—' [-3/4
=2 N=2
= §,(_L>=/§. |
T 32\ 8

3. Determine if the given alternating series converges or diverges. (10 pts.)
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4. Determine if the alternating series converges absolutely, converges conditionally, or diverges.

(15 pts.)
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5. Find the radius and interval of convergence of the given power series. (15.pis.)
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6. Find the Taylor series expansion at z = 0 for the function f(z) = 1+—135 (15 pts.)
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Bonus: (+1pts. each) Determine if the statement is True or False. No work is required.

(a) If nlglolo an = 0 then ) a, converges. Y .A{/g g‘
(b) If nll)n;o an = £ and £ < 1, then the series with terms a, converges. FALS 6’

(c) If 3" an converges, then the terms a, tend to zero. ’(z Ug

(d) If the alternating series ) (—1)"a, converges, and a, satisfies all the requirements of
the alternating series test, then the series ) a, also converges. F ALS —
—

(e) If =25 =1 for all n, then 3 a, diverges.
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